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(EER(FEE) / RBERE . MEEES / BREH : 210
REBH L EYIES EHAE FRFR AR
RETEEH) i 20% 20% 20% 40%
R%E 1 R = 30% 30% 40%
R 2 R = 50% 50%
R%E 3 R i X X X 100%
e = X X X 100%
EER(FEE) / RERE . MEEES / BREE : 201-204
REABH HAH)E EHAEH TR AR
RETECHI = 50% X X 50%
RE 1 R i X 100%
RE 2 R = X 100%
EEERE i X 100%
(EER(FEE) / RBRE  WEREAREBER / BEREL : 201-204
TRENBH HAH)E EHAEH FRFR AR
RETEGHI i X 30% 30% 40%
RE 1 R = 50% 50%
TRE 2 R = X 100%
EEERE = X 100%




(EER(EE) / BIBRE  (E2(Z) / EREAR : 101-104 - 205 - 206 ~ 209
REBH L EYIES EHAE FRFR AR
RETEGHI = 20% 20% 20% 40%
R%E 1 R = 30% 30% 40%
RE 2 R = 50% 50%
RE 3 X = X X X 100%
EEERE = X X X 100%

(EER(FE) / RE&E . EEB{EEEBREETE_

/ BRFELR : 301-304

REABH HAH)E EHAEH TR AR
RETECHI = 50% X X 50%
RE 1 R i X 100%
R 2 R = X 100%
EEPERE i X 100%

(E2N(FAE) / NEEE

D ERZ{ERERIES

/BRFLR : 301-304

REEY | B9E M THAE
JRETEEHI = X 50% X 50%
iRE 1 R i X 100%
RE 2 R & X 100%
ERBERE i X 100%

fEBREE) / RESHE | BELRERCE / BRER : 310
REEY | B9E EME TEAE
JRETECHI i 50% X X 50%
B 1 % = X 100%
RE 2 R = X 100%
2ERE ﬁ X 100%




(EER(FEE) / RBERE . EEB{EEEEREBEEE

/BRFEH : 310

REABH HAH)%E EHAEH TR AR
RETEEHI = X 50% X 50%
RE 1 R = X 100%
RE 2 R = X 100%
EEERE = X 100%
(EE2R(FEE) / BB &% . £EHEEE /BREH : 110

TREBH HAH)E EHAEH FRFR AR
JRETEGHI i 25% 25% 25% 25%
RE 1 R = 30% 30% 40%
RE 2 R i 50% 50%
RE 3 R = X X X 100%
EEPERE i X X X 100%




